INFIQ GRADE 1 WORKSHEETS

Subtract Up To 20 - Word Problems

Name Date

Solve the following word problems.

o

E Theo uses 12 building blocks to build a tower. Finn uses § building blocks
" to build a tower. How many more blocks did Theo use than Finn? I I

more blocks

o
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~ Harper bought 4 watermelons. Avery bought 2 watermelons. How many
more watermelons did Harper buy than Avery?

more watermelons

N
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Ella has 19 pencils in her study. Luna has 6 pencils in her study. How

- many more pencils does Ella have than Luna? /

more pencils

e

Alex bought 17 chocolate bars at a shop. Eric bought 2 chocolate bars at
. the same shop. How many more chocolate bars did Alex buy than Eric?

more chocolate bars
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